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الموضوع الأول
PART 1: READING                                                                                                                     (15 points)
                 Read the text carefully then do the activities.
                 NASA has successfully launched a rocket carrying a planet-hunting telescope. The powerful Kepler telescope will search for planets similar to the Earth. Scientists believe there are good chances of finding a planet like ours somewhere out there in the galaxy. There are billions and billions of stars in the heavens. If one planet is the right distance from one of these stars, then conditions might be right to support life. The planet’s atmosphere should neither be too hot nor too cold. The planet would also need water. The telescope is named after the German 17th-Century astronomer Johannes Kepler. It will spend more than three years looking for dark specks against the brightness of a hundred-thousand stars. These specks could be Earth-like planets. 

      The manager of the $600-million project Jim Fanson said: "We have a feeling like we're about to set sail across an ocean to discover a new world." NASA’s space science boss Ed Weiler agreed that the mission was a “historical” landmark in space exploration. However, he couldn’t say whether or not the telescope would find another Earth. “It very possibly could tell us that Earths are very, very common...or that Earths are really, really, really rare - perhaps we're the only Earth,” he said. He told reporters how important Kepler’s journey was, saying: "It really attacks some basic human questions that have been asked since that first man or woman looked up at the sky and asked, 'Are we alone?’”

Adapted from :www.BreakingNewsEnglish.com
 A. COMPREHENSION                                                                                                      (08points)  
1- Are these statements true or false according to the text . 

a) Scientists are pessimistic about finding a similar planet to earth.

b) It is the first time that such a mission is set.

c) Johannes Kepler funded the mission.

d) According to Ed Weiler there are equal chances of finding or not finding a similar planet to earth.

2- Answer the following questions according to the text: 
a) :   What is the aim from the NASA mission?

b) :   What conditions are needed from a planet to be similar to ours?

c):    How long will the mission last?

3- Who or what do the underlined words refer to in the text?  

It (§1)                        The manager (§2)                         He (§2)                       It (§2)

4- Choose a suitable title to the text.
a) Johannes Kepler’s Discovery.                    b)      The Role of Telescopes in Space Science.
c)      NASA Telescopes  Looking for Other Earths.


صفحة 1 من 4
B. TEXT EXPLORATION                                                                                           (07pts)
 
1/ Find in the text words that are closest in meaning to the following

 look for (§1)                                     voyage (§2)
 2/ Classify the following words in the table                                                                           
                intercontinental  -  exploration    -    historical    -      human              
	  Prefix          
	    Root
	  suffix

	
	
	


3/  Rewrite sentence B so that it means the same as sentence A.
            A-NASA  launches a rocket carrying a planet-hunting telescope.

B- A rocket ……………………………………………………….. 

      A-      Ed Weiler agreed that the mission was a historical landmark in space exploration.

                        B  - Ed Weiler agreed : “……………………………………………….” 
4/  Classify the following words according to the pronunciation of their final “s”. 
      Scientists                                specks                     chances                    billions                     
	/s/
	/z/
	/iz/

	
	
	


5/ Re-order the sentences below to make a coherent paragraph

   a- not only for spaceship launching,
   b- It will probably be used for communication relay and astronomical study as well.

   c- but also for forecasting the Earth’s weather.

   d- Many scientists believe that the moon could serve as a base ,
PART 2: Written Expression                                                                                (05 pts) 
                                             Choose one of the following topics:
Either Topic 1: 
More and more money is spent nowadays on space exploration missions. Write a conversation between you and your classmate on the importance of such missions using the following notes.

· Find out more about the history of the universe

· Provide analysis of the atmosphere/ of planets in other solar systems 
· Help predict/avoid collisions with space bodies.

· Find possible earth-like planets.
Or Topic 2: 
            NASA’s space science boss Ed Weiler declared that the Kepler mission was a “historical” landmark in space exploration. What do you think would happen if a planet similar to ours was found in the universe? State any positive or negative aspects
صفحة 2 من 4
الموضوع الثاني
PART 1: READING                                                                                                                     (15 points)
                 Read the text carefully then do the activities.
         Overweight and obesity are considered to be one of the most serious public health challenges in Europe. According to the Organisation for Economic Co-operation and Development (OECD, 2010), the prevalence of obese people has more than doubled in the last 20 years. Today, more than half of the adult population is overweight or obese. Most at risk are socio-economically disadvantaged groups and minorities. The obesity rate tends to be higher in liberal regimes characterized by high access to high-energy food and a high level of competition, economic uncertainty, and social inequality.
       In previous research obesity tends to be seen as a complex phenomenon linked to social and economic changes in modern societies. One hypothesis has been that the increase of obesity is caused by the obesogenic environment, a combination of highly accessible high-energy food and a sedentary lifestyle. Another explanation has been that the increase reflects changes in welfare regimes and the rise of market-liberal ideologies. Moreover, the varying obesity rates that have been observed in European countries have been seen as a possible outcome of an environmental effect where local food cultures have diminished or intensified the effects of the increased energy supply in the global food system. A key question has been how obesity can be regulated. Amongst other things, it has been recommended that prevention of obesity should be guided by a socio-ecological framework that focuses on interactions between a person’s physical, social, and cultural environments. The main goals of the World Health Organization and current obesity prevention programs and nutrition policies in Europe have been to modify the obesogenic food environment, increase the cooperation among governments, food industry and research, and reduce consumer access to unhealthy foods .
A)Comprehension                                                                                                         (08points)
1.Circle the letter that corresponds to the right answer.
      The text is : a-Expository       b-Narrative      c –Prescriptive
2.Are these statements “True” or “False” according to the text?
a-The number of obese people increases a lot in the last 20 years.
b-Fifty percent of adults suffer from obesity.
c-Obesity has not a relation with social and economic changes .

d-To reduce the amount of obesity, consumers must refrain consuming unhealthy foods.
3.Answer the following questions from the text.
a-What are the causes of obesity?

b-How can we solve this health problem according to the writer?

c-Is the role of theWHO to limit the causes of obesity?Justify from the text.
4-In which paragraph is it mentioned that research affirm that obesity is a dangerous problem?
5-Choosee the general idea of the text.

 a-the causes of obesity    b-the effects of obesity    c-the problem of overweight.

	


صفحة 3من4
B)Text Exploration                                                                                                  (7points)
1. Find in the text words that are opposite in meaning to the following:
a) Lower                     b) advantaged                       c) decrease                    d)thin
2. Complete the chart as shown in the example.
	Verb
	Adjective
	Noun

	To manufacture
	manufactured
	Manufacturer/manufacturing

	To consume
	…………………
	…………………

	……………………………
	lost
	……………………….


3. Connect each pair of sentences using the connectors in brackets. Make changes where necessary
a) People eat a lot of sugary food. People suffer from health problems.(as a result)
b) People practise sport regularly. They keep healthy.(providing that)
4. Classify the following words according to their stressed syllables.
Obesity_   organization_unhealthy_weight

	1st syllable
	2nd syllable
	3rd syllable
	4th syllable

	
	
	
	


5. Fill in the gaps with words from the list below.
                     disease-factors-genetic-health-problem

        Obesity is a …….1…….. of excess body fat characterised by a Body Mass Index of 30 and more. Obesity is caused by simple ….2…… like, environmental factors, psychological, social and cultural and behavioural factors. Nevertheless, there are other factors, for example, …….3…….. causes. But the causes for sudden development of obesity remains unclear. Obesity has become a ……4…….. problem
PART 2: Written Expression                                                                                (05 points) 
                                             Choose one of the following topics.
Either Topic 1: 
          Our eating habits are the main cause of obesity. Use the following notes to write a composition of about 80 to 100 words saying how people can prevent obesity and keep fit.
-stop eating unhealthy food/ fast food.....

-eat only when you feel hungry.....

-avoid eating while watching TV....

-practise sport.....
     Or Topic2:
 Do you think that advertising can cause health problems? Why or why not? Justify.
*********WHERE THERE’S A WII,THERE’S A WAY***************************
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